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Instructions for Question Nos. 21 to 25: Read the
following passage carefully and answer the following
questions that follow:
Forests cover about 31% of the Earth's land area,
providing essential resources for both humans and
wildlife. They help regulate the Earth's climate by
absorbing carbon dioxide and releasing oxygen.
Forests are also home to more than 80% of the world's
terrestrial species of animals, plants, and insects.

Many of these species are not found anywhere else
in the world.

Forests also play a key role in the water cycle. Trees
absorb and store water, which helps to maintain
the balance of rainfall in an area. This is especially
important in regions that experience frequent droughts
or floods. Without forests, these areas would be more
vulnerable to extreme weather events.

Unfortunately, forests are being destroyed at an
alarming rate. Logging, agriculture, and urbanization
are major contributors to deforestation. This
destruction not only harms the environment but also
threatens the livelihoods of people who depend on
forests for food, medicine, and shelter.

To protect forests, many countries have implemented
conservation programs. These programs aim to reduce
deforestation, promote sustainable farming practices,
and protect endangered species. It's important for
individuals, communities, and governments to work
together to preserve the forests that are vital to the
health of our planet.

21.  Whatis the primary role of forests in regulating
the Earth's climate?

(a) They release carbon dioxide and absorb
oxygen.

(b) They absorb carbon dioxide and release
oxygen.
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27.
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(c) They absorb rainwater and store it.
(d) They provide food and shelter to animals.

What percentage of the Earth's land area is
covered by forests?

(a) 15%
(b) 50%
() 31%
(d 10%

Why is the water cycle important in forested
areas?

(a) Trees absorb water and help balance
rainfall.

(b) Trees prevent floods and droughts.

(c) Forests provide water for agriculture.

(d) Trees store water for future use.

What are the major causes of deforestation
mentioned in the passage?

(a) Overhunting, tourism, and wildfires.

(b) Logging, agriculture, and urbanization.
(c) Natural disasters, pests, and disease.

(d) Mining, floods, and droughts.

How can we help protect forests?

(a) By planting more trees in cities.

(b) By reducing the use of paper and wood.

(c) By supporting conservation programs.

(d) By increasing the production of food
from forests.

Fill in the blank with the appropriate word
given below:

The scientist's groundbreaking discovery was
hailed as , marking a turning
point in the field of medical research.

(a) Trivial

(b) Monumental

(¢) Negligible

(d) Inconsequential

Select the correct indirect speech of the given
sentence:

She asked, "Where have you been all this
time?"

(a) She asked where I had been all that time.
(b) She asked where I have been all that time.
(c¢) She asked where had I been all this time.
(d) She asked where I was all this time.

28.

29.

30.

31.

32.

33.

(4-A)

Choose the correct word which is opposite in
meaning to the given word:

Eloquent

(a) Inarticulate
(b) Expressive
(c) Persuasive
(d) Fluent

Find out the misspelled word:

(a) Independent

(b) Dissapoint

(c) Exaggerate

(d) Agriculture

Which of the following sentences is correctly
punctuated?

I.  Ineed to buy milk, eggs, and bread.

II. My brother, who is very tall, plays

basketball.
(a) Tonly
(b) M only

(c) BothlandlII

(d) Neither I nor 11

Which of the following sentences best

illustrates the idiom "kick the bucket"?

(a) He lived a long, happy life before passing
away.

(b) She was happy to accomplish her dream.

(c) He decided to retire and enjoy his free
time.

(d) She completed all her goals and felt
fulfilled.
Consider the following statements:

I.  Anapostrophe is used to show possession
or form contractions.

II. A period is used to end all types of

sentences.
Which of the above statement(s) is/are
correct?
(a) OnlylI
(b) Only I
(c) BothTandlII
(d) Neither I nor II
Her dedication to the cause
inspired the entire team to work harder.
(a) Apathy
(b) Fervent
(c) Casual

(d) Indifferent

www.nextias.com



34.

35.

36.

37.

38.

[A-111-24] 030812

NEXT IAS

A number when divided by 8 leaves remainder 34,

4. When the square of the same number is
divided by 8, find the reminder.

(@) 0
(b) 4
(c) 6
(d 38
What is the next term in the following series:

XXY,YWZ, ZVA, AUB, -----
(a) BYC

(b) BTC

(c) WYC

(d WCT

3s.

If in any code language, the code for ‘AD’ is

4 and the code for ‘DJ’ is 7, then what will be 36.

the code for ‘JO’.
(a) 4
(b) 5
() 6
(d) 3

Find the missing number in the following

ies?
SEries ! 37.

3,4,7,12, 19, 28, 39, 7, 67

(a) 48

(b) 49

(c) 52

(c) 53

In a dinner party both fish and meat were
served. Some look only fish and some only
meat. There were some vegetarians who
did not accept either. The rest accepted both
fish and meat. Which one of the following

logic diagrams correctly reflects the above
situation?

(5-A)

38.
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(c)

(d) O@

The missing letter in the sequence: V, T, P, 39

7,B

(@ L
(b) H
(© J
(d) F

40.

Pointing towards a person in a photograph,
Rakhi said, He is the only son of the father
of my sister’s brother.” How is that person
related to Rakhi?

(a) Uncle

(b) Father

(c) Maternal uncle
(d) None of these

41.

A cistern can be filled by pipe A in 10 hours,
and it can be emptied by pipe B in 15 hours. If
both pipes are open together for 6 hours, what
part of the cistern will be filled?

(a) 1/3
(b) 1/4
) 1/5
d) 1/6

42.

If a person walks at 16 km/hr instead of 12
km/hr, he would have walked 24 km more.
The actual distance travelled by him is:

(a) 52km
(b) 64 km
(c) 72km
(d) 66km

What is the sum of first 15 perfect squares? 43.

(a) 1240
(b) 1260
(c) 1180
(d) 1140

(6-A)

(c)

(d) O@
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d 1/6
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A boy is facing east. He turns 135° in the
clockwise direction, followed by 450° in
the same direction. He then turns 180°
anticlockwise. What direction is he facing
now?

(a) South-East

(b) West

(¢) North-East

(d) North-West

Which of the following year has the same
calendar as that of year 2007?

(a) 2012

(b) 2014

(c) 2016

(d) 2018

In a row of 70 boys, when Kamal was shifted
to his left by 6 places, his number from the
left end of the row became 15. What was the
position of Sonu from the right end of the
row if Sonu was seven places to the right of
Kamal’s original position?

(a) 41

(b) 40

(c) 42

(d) 43

A watch which gains uniformly is 2 minutes
low at 2 PM on Tuesday and is 4 min. 48 sec

fast at 4 PM on the following Tuesday. When
was it correct?

(a) 2 PM on Wednesday

(b) 4 PM on Thursday

(c) 2 PM on Thursday

(d) 12 PM on Friday

Let N be the greatest number that will divide
1500, 6500 and 9000, leaving the same
remainder in each case. Then sum of the digits
in N is:

(@) 1

(b) 8

(c) 2

(d 7

Which of the following could be considered a
physical barrier to effective communication?
(a) Distracting background noise

(b) Differences in cultural background

(c) Emotional bias

(d) Misunderstanding of words or phrases

44.

45.

46.

47.

48.

49.

(7-A)
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Find the area of the largest square that can be
inscribed in a circle of radius ‘R’.

(a) 4R
(b) 2R?
(¢) R?

(d) None of the above

Which of the following is an example of
a semantic barrier to effective communication?

(a) Different interpretations of the same
word or phrase

(b) Physical distractions like background
noise

(c) Emotional reactions such as anger or
stress

(d) Misuse of technology in communication

Which of the following components is
responsible for carrying the signal from the
sender to the receiver in a communication
system?

(a) Encoder

(b) Channel

(c) Decoder

(d) Transmitter

In oral communication, which technique is
most effective for ensuring that the message
is understood by people with different cultural
backgrounds?

(a) Using universal terms and phrases

(b) Speaking louder to emphasize key points
(¢) Using slang and colloquialisms

(d) Avoiding eye contact to reduce discomfort
In oral communication, what is the most
effective technique for ensuring that the

message is understood by people with different

levels of familiarity with the topic?

(a) Using metaphors and analogies related to
everyday life

(b) Speaking in a highly formal tone

(c) Avoiding questions or feedback during
the conversation

(d) Using only academic terms to sound
more professional

50.

51.

52.

53.

54.

(8-A)
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Which aspect of paralanguage
effective in conveying the speaker's emotions
or feelings?

(a) Speech rate

(b) Volume of voice

(c) Facial expressions

(d) Word choice

56.

Which of the following techniques will help

improve clarity in a formal letter?

(a) Using excessively formal language to
sound more professional

(b) Keeping sentences short and ensuring
each paragraph conveys a single idea

(c) Using slang or informal phrases to seem
more relatable

(d) Writing in long paragraphs without
breaking them into sections

Refer to the statements given below- 57

Statements:

I.  All dogs are mammals.

II. Some mammals are pets.
Conclusions:

I.  Some dogs are pets.

II.  All pets are mammals.
Select the correct answer using the code-
(a) Only conclusion I follows.
(b) Only conclusion II follows.
(c) Both I and II follow.

(d) Neither I nor II follows.

If June 1st, 2000 was a Thursday, what day of

the week was June 1st, 2005? 58.

(a) Wednesday
(b) Thursday
(c) Friday

(d) Saturday

What number should come next in the

following series: 59.

2,6,12, 20, 30,42, ?
(a) 54
(b) 56
(c) 64
(d) 66

Find the odd one from the given alternative- 60.

(a) C4E
(b) LI3N

(9-A)

1S most &5,

I T AT AT AT H FH BH H
WIATIS 1 HF T Tee] o g 22
(a) «MHI T

(b) 3T T A
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(d) 3= @ei 9 faufs fory famr o« R
T forem

= feu U koMl 1 T o-

EZEN

L @fl o e 2

I, %9 &M e SHR 2
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. % % Uelq e 2|

. |l Irerq el SR 2

FHIS H ST FHH FEl I -

(a) “heet TRt | STTEROT a2

(b) heet Treemd 11 STER0T a2

(¢) I SIRIITA ST &3 &

(d) 7 @ISR A &I SRl 2l

If 1 S, 2000 TEER o, @ 1 SH, 2005
Yl 1 i @1 e

(a) F¥AR

(b) TEAR

(c) AR

(d) wIfeR

frefafad g@en & e Fa) F=n o1 =@nfeu:
26,12, 20, 30, 42, ?

(a) 54

(b) 56

(c) o4

(d) 66

feq U fowew & @ foom e 9@ it
(a) C4E

(b) LI3N
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(c) 0O15Q
(d U22wW
A woman is looking at a photo of someone
and says, "I have no brother, but that person's

mother is my mother’s daughter." Who is the
person in the photo?

(a) The woman’s daughter
(b) The woman herself

(¢) The woman’s mother
(d) The woman'’s sister

The H.C.F. of two numbers is 45, and their
L.C.M. is 2025. If one number is 225, what is
the other number?

(a) 225

(b) 405

(c) 675

(d) 900

Find the correct alternative from the following:
Author : Book :: Artist : ?

(a) Gallery

(b) Painting

(¢) Exhibit

(d) Frame

Two trains running in opposite directions
cross a man standing on the platform in 24
seconds and 18 seconds respectively and they
cross each other in 20 seconds. The ratio of
their speeds is:

(a) 1:3

(b)y 3:2

(c) 3:4

(d) None of these

Find the percentage change in the surface area
of a cube when each side is doubled.

(a) 120%

(b) 75%

(c) 300%

(d) 150%

If the mean and median of a dataset are

significantly different, what is most likely true
about the data?

(a) The data has a normal distribution.

(b) The data contains outliers or is skewed.
(c) The data is perfectly symmetrical.

(d) The data has no variability.

61.

62.

63.

64.

65.

66.

(10 - A)

(c) 015Q

(d) U22W

e e F W G @ E ek wed
2, ‘T wE 9 e 2, afed su st &
of o o w5t 9 B1” W § 9% A B 82
(a) wfeen =t

(b) e Gg ’

(c) wfeem = =

(d) wfeen = o=

T gemat w1 H.C.F. 45 @, 3R S°e1 L.C.M.
2025 B AR TH WA 225 ¥, A qEd "eA
1 872

(a) 225

(b) 405

(c) 675

(d) 900

fr=fafes 9 9 =&t fawey 3@ Sifs:

FAThY : ?

ddeh : Y&deh i@
(@) e

(b) dfem

(c) TR
(d) wH

foata fegmeti o wem det < Yermiear
TEHH R TS THh AfK &l HUW: 24 ThHe
ST 18 e H IR HIA T 3 I TH W H
20 s T UN A B| ST T T UM €
@ 1:3

(b) 3 :2

(c) 3:4

(d) = ¥ HE T

TH o1 & Y &a%d B yfava aieda A
FHIFSIT STd Y&k SN &l IR L a1 S
(a) 120%

(b) 75%

(c) 300%

) 150%

Ifg Se@e w1 AeA SR wifeash weEqyl &9
g = €, @ 22 % 9R o wad eifuesh gare
1 872

(a) = FH WHR T 2l

(b) = ¥ =R Wi © =1 fawe 7
(c) = W We ¥ guftd T

(d) = o % qiedeiermar T 2|

www.nextias.com




67.

68.

69.

70.

71.

72.

[A-111-24] 030812

In a dataset, if the mean is less than the median,  67.

NEXT IAS

which of the following is likely true about the

distribution?

(a)
(b)
(©)
(d)

The distribution is perfectly symmetrical.
The distribution is skewed to the left.
The distribution is skewed to the right.

The distribution is normally distributed.

68.

In a dataset with a symmetric distribution,

which of the following is most likely true?

(a)
(b)

(©)
(d)

The mean is always less than the median.

The mean is always greater than the
median.

The mean is equal to the median.

The distribution is skewed to the right. 69.

Which of the following is a potential drawback
of using the mean as a measure of central
tendency in datasets with outliers?

(2)
(b)
(©)

(d)

It ignores the spread of the data.
It is sensitive to extreme values.

It is always the best measure of central
tendency.

It 1s not useful for continuous data.

70.

A group of 12 men can complete a task in 18
days. If the task needs to be finished in 12
days, how many more men should be added to
the group?

(a)
(b)
(©)
(d)

6 men
& men
10 men

12 men

Choose the number pair/group which is

different from others:

(a)
(b)

2:6
3:12

(c) 4:24

(d)

5:30

Select the related number from the given 72,
alternatives

27:756 ::34: 7

(a)
(b)
(©)
(d)

1128
1190
1272
1224

(11 -A)

71.

Seie o, 9fg wien wifeasht 9 &4 €, @ T
% R H Frefaied § 9 A | g9ed: 9 272
(a) faaon ot we 9@ gufud 2

(b) fomo o R fasr 2

(c) faaw < R fawen 21

(d) foaor gmm= w9 9 faafa 2

g oo o Seme d, ffafaad & 9
HIF W Ha e gcd 27

(a) TIEA UM WA W HH Bl 2

(b) e EHIM HfeHHT § w1 el B

(c) e Hifewsh & aUer Bl 2

(d) faawor <€ iR fawen e 2

3BT dlal B H &g Ugfd & A
% ®4 Y HET H AN FH H1 Gfad W
frefefaa o 9 i @ 272

(a) ¥E BA B YHR HI W HI B

(b) & W oAl & Wfa Hoehat 2l

(c) I8 THIM DA T 1 Fad 3T=s1 7Y

2l
(d) T8 TR 2o & fou swrh =& 2

12 9&9 &1 TH e 18 f&Al ° s & W
T Hehdl 81 97€ & & 12 & o e we
I YTl 7, @ gue H fhad i qeul i
SIERSIEIRC

(a) 6 9=H

(b) 8 =W

(c) 10 g&y

(d) 12 3

9% e JH/AYE 91 o g9 § = =

(@ 2 :6

(b)) 3:12
(c) 4 :24
(d 5 :30
feu U fowew ® ® wafad den g+
27: 756
(a) 1128
(b) 1190
(c) 1272
(d) 1224

34: 7
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Arrange the following steps in the correct
order for problem-solving in a scientific
investigation:

1. Observing the phenomenon

2. Formulating a hypothesis

3. Experimenting

4.  Analyzing results

5. Drawing conclusions

(a 1,2,3,4,5

(b) 2,1,3,4,5

(c) 1,3,2,4,5

(d 1,2,4,3,5

Two numbers are respectively 25% and 40%

more than a third number. The ratio of the two
numbers is:

(a) 14:25

(b) 12:15

(c) 15:28

(d) 25:28

B is in the East of Q which is in the North
of R. If E is in the South of R, then in which
direction of B, is E?

(a) North

(b) South

(¢) South-East

(d) None of these

Find the missing number in the given
sequence-

1,2,6,24,120,?, 5040

(a) 720

(b) 460

(c) 840

(d) 1240

John is the brother of Emily; Emily is the

mother of Oliver; Oliver is the son of Patricia.
How is John related to Patricia?

(a) Brother-in-law
(b) Father

(c) Uncle

(d) Grandfather

What is the primary effect of using the

"availability heuristic" in decision-making?

(a) Overestimating the likelihood of events
based on their emotional impact.

(b) Judging the probability of an event based
on how easily examples come to mind.

73.

74.

75.

76.

77.

78.
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A = § o gHEHE o fou fefatea
TOT i el HH T HaEUd i

1. EIA T STSelih T
2. URheTl dAR S

3. AN &

4. uftorg @1 foveryor &
5. frepd faeprer

(@ 1,2,3,4,5

(b) 2,1,3,4,5

() 1,3,2,4,5

(d 1,2,4,3,5

T HEAW qE "' W HE: 25% 3 40%
afferer 81 < Hemet &1 U @

(a) 14 :25

(b) 12 : 15

(c) 15 :28

d) 25 :28

B,Q% 7d # @ IR% S H 21 AR E,R
% <feror § 2, Al B ot fohw fewn A E €2
(a) S

(b) =feor

(c) =feor-e

(d) = ¥ wE

XU MU AT H @ WA 9 -
1,2, 6,24, 120, ?, 5040

(a) 720

(b) 460

(c) 840

(d) 1240

ST wftredt w1 W €; ufielt sifaer w1 At €;

Aiferer Ui 1 9 81 S ueifgan 9 foy

YR Hefd 872

(a) i

(b) o

(c) ==

(d) <=

ot o9 o Y SuereEar STEM " @1 ST S

F WUfh g R 82

(a) WA W AR Bl 3Tk TEAHD
JIE & STMER W 3o ATl

(b) Torelt =1 1 FHIEAT 1 AT 39 STER
W A TR SEE fhat emEr 9
feam o e ©)

www.nextias.com



79.

80.

81.

[A-111-24] 030812

NEXT IAS

(c) Relying on statistical data to make
decisions.

(d) Making decisions based on the most
recent experience or memory.

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R)-

Assertion (A): Active listening is an essential
skill for effective communication.

Reason (R): Active listening involves giving
full attention, which helps in understanding
the speaker's message and responding
appropriately.

Select the correct answer using the code given
below:

(a) Both Assertion and Reason are true, and
the Reason is the correct explanation for
the Assertion.

(b) Both Assertion and Reason are true, but
the Reason is not the correct explanation
for the Assertion.

(c) The Assertion is true, but the Reason is
false.

(d) The Assertion is false, but the Reason is
true.

Who referred to management as "the process of
planning, organizing, leading, and controlling
an organization's resources to achieve specific
goals"?

(a) Peter Drucker

(b) Henri Fayol

(c) George R. Terry

(d) Philip Kotler

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) -

Assertion (A): Written communication
is always more effective than verbal
communication.

Reason (R): Written communication provides
a permanent record, which helps in referring
back to the message later.

Select the correct answer using the code given
below:

(a) Both Assertion and Reason are true, and
the Reason is the correct explanation for
the Assertion.

(b) Both Assertion and Reason are true, but
the Reason is not the correct explanation
for the Assertion.

79.

80.

81.
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(c) frofa o1 & fou wifersa 2 w fakk
T

(d) TO¥ T@ & ST9d A WA & MER W
ot <

9 < wer KU MU €, U W AfqmeA (A)

IR TR H HRO (R) & €9 H daad

™ -

ATTFHYA (A): F9EN IR & fau wfewa g

T AEI9IF HIV ¢

FRO (R): 9FRT g o qU =AM <A1 I0HA

2, S g ® G9! g iR 3fud add

4 yfafwan 39 o #weg o Bl

= fSU 7T I F1 ST FH & IW g
(a) e 3R FRO A T &, 3R HRO
AAfveher & foru W&t wasdien 2
(b) AfqweA IR HRU A FF €, AR

R AR % fIT T e e 2
(c) Ifweher W €, wifeh SR Terq @)
(d) rfosher o €, oifer RO " 2

yaed i “faftre e w1 9w e % fo
ST o TEIEAl Rl FASAT 99, A
T, A T SR FERE wE w1 ufea”
% ¥ ¥ foeas @fva fean?

(a) WX g
(b) TR ®A@
(c) SISt IR,
(d) fHfeT sieer

= wod faw U R, ww H AfTweE
(A) 3R W F &R (R)  ®9 § I&q
foman T 2-

afqeper (A): fafea gur aen difgs ¥9r
Y fferer gurel gt 21

HRT (R): fafgd 99r & Tomrft R&ie =

T €, S A% W HWeW i wefdq w H e

F 2| A G T w1 ST e TE

‘o‘_\ﬂ?ﬁ

(a) 3o IR SR SHI T €, SR HHoT
Afeher & foru W&t T 2

(b) AfqweA IR HRU A FF €, R
R AR % fIT T T e 2
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(c) The Assertion is true, but the Reason is
false.

(d) The Assertion is false, but the Reason is
true.

Which of the following is most likely to lead

to political apathy?

(a) Increased access to information and
diverse viewpoints

(b) A perceived lack of effectiveness in the
political system

(c) Engagement with grassroots political
movements

(d) Strong political leadership and clear
policy direction

Which research method involves examining
relationships between variables to establish
cause-and-effect connections?

(a) Experimental Research

(b) Exploratory Research

(c) Descriptive Statistics

(d) Predictive Analysis

Which method focuses on interpreting
numerical data to summarize information and
find insights?

(a) Qualitative Research

(b) Descriptive Statistics

(c) Predictive Analysis

(d) Exploratory Research

What is the primary effect of using the
"framing effect" in decision-making?

(a) Making decisions based on how

information is presented rather than on
the actual content.

(b) Overemphasizing the negative aspects of
a decision.

(¢) Relying on personal experiences to make
judgments.

(d) Ignoring the context in which the decision
is made.

Which of the following is a psychological
barrier that causes a person to focus only
on information that supports their existing
beliefs?

(a) Cognitive Dissonance
(b) Confirmation Bias
(c) Selective Listening

(d) Overconfidence

82.

83.

84.
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(c) rfveher W €, oifehd RO 36 B
(d) fqepeF 19 B, Wik R0 §F 2l

frefefaa & @ ®E @1 USHifds ISR

AR A SH B GaQ Ao Fure 8?2

(a) ol 9% wg9 ° dfg ok fafay e

(b) TSHIfaeh L | FEsierdl i Sivd
Exii|

(c) HF TR & TSHifae STaleH o SEe
(d) WS TSR g s T ifa faem

frg wig Tgfd o HRU-IR-Y9E S
Tfyd e & fau =R & =9 g9 & 99
HET A B2

(a) YRR STIEEH

(b) @Yo ST

(c) TUHHSE HIfEAHT

(d) YaigAEES faverso

HiA ® fafs SHER ® wRRE e SR
Jiagfe @eM & Ty W& s 821 &1 e
FH W Hfgd 2?2

(a) TOMCHS ¥ME

(b) TUHAHSE TR

(c) YaTgAMHS fagerson

(d) STHTUTHS MY

faofa @9 o SRIET Y9ET F ST FwH A
Wftes GAE 1 22

(a) TEdfde W & S SRR HE T
HT S §, T SER W o o

(b) Tt @ = s TR
STt SR <

(c) Tl oF & fou =A@ g9al W R
&

(d) 3§ G3d @+ o=@ ww fagd fv
foran s 21

frefafga & @ ®F @ wEee ey @

S forelt =afR o Haa 34 A WS

HfEd FE H BRI S SAR HSQ

forgardt 1 gmefa &t €2

(a) HIAMICHS STHI(

(b) i EiE

(c) TIARHEH G

(d) sifq srcHfavam™
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fAfafed § § S & §9- & & &9 T
& YUk 3R UrEddl INfsRe §e¥ 9 W
stafifea staf 9 s/ g 872

87. Which of the following is a form of 87.

communication where the sender and receiver

are aware of the underlying meanings beyond

the literal message? (a) IR
(a) Meta-communication (b) T FER
(b) Direct communication (c) ufafswan
(c) Feedback (d) Te gar
(d) Open communication 88. TNRER T S 3
88. What is the main purpose of an algorithm? (a) HIR TUH N STEN fHT §H A
(a) Tominimize the space used by a computer TAM H1 FH FHEN
program. (b) Terdt Hoe 1 gl e A R e e
(b) To solve a problem or perform a task in a Hifra =on ° S
finite number of steps. (c) I& gHfved & & woqe fomm fawsdt
(¢) To ensure that the computer runs without I & =l
errors. (d) = =t W GUeid
(d) To store data efficiently. 0. Frefafeg § ¥ 9 @ e frorar =
89. Which of the following is an example of IR B2
functional fixedness? (a) & A9 UG HIE STV 7 &l S hl
(a) Using a shoe as a hammer when you %'Qﬁg F TWE IEHTA HEA
don’t have a tool. (b) ==& e T &l 3k wE & faw 99 =)
(b) Using a pen cap to fix a broken zipper. 1 T AT
(c) Using a spoon to stir paint. (c) U2 = feam & fau == &1 =
(d) Only using a rubber band to bind Sl
documents. (d) e i atE & fag Faa W A &
90. A letter lock consists of three rings, each T
marked with ten different letters. In how many ~ 90. U 7&R die ¥ a9 {1 g %', IERCE N CED
ways is it possible to make an unsuccessful T IE SF-3TAT &R 3Hfehd ed &1 @ik hl
attempt to open the lock? Wier w1 STEhe J4@ oo aliel @ Gua €2
(a 99 (a 99
(b) 999 (b) 999
() 29 () 29
(d) None of the above () ST o ¥ HE Tl
91. A clock is started at noon. By 10 minutes past ~ 91. e =gl T H Y& el 215 a5 10 foe
5, the hour hand has turned through: T, TS I e YA Il 2
(a) 135° (a) 135°
(b) 145° (b) 145°
(c) 130° (c) 130°
(d) 155° (d) 155°
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92. Ifin a certain code, REASONING is written 92,
as SAEROGNIN and EXAMINATION is
written as IMAXENNOITA, then in that
code language, COMMUNICATION will be
written as
(a) NOITACNUMMOCI
(b) NTMNOCIPOISAC
(c) NOISADUMNOCIC
(d) NUMMOCINOITAC

93. Find the number of trangles in the following 93

figure.

(a) 8

(b) 10

(c) 12

(d 14

94. Find the unit digit in the product: 4
(1237)!'% x (841)™
(a) 1
(b) 3
() 9
(d) 7

95.
95. A committee of 5 is to be formed out of 5 men

and 5 ladies. In how many ways can this be
done when at most 2 ladies are included.

(a) 1024
(b) 1000
(c) 1224
(d) None of the above
96. Which approach involves solving a problem  g¢

by breaking it down into smaller sub-problems
that are solved independently?

(a) Divide and Conquer
(b) Trial and Error
(c) Conceptual Analysis

(d) Brainstorming

[A-11I-24] 030812 (16 —A)

gfg feet fafvaq wie ¥, REASONING i
SAEROGNIN 3R EXAMINATION &t
IMAXENNOITA fer@r smar 2, @ s§ @i
T ", COMMUNICATION &1 9 ¥R
fermn s

(a) NOITACNUMMOCI

(b) NTMNOCIPOISAC

(¢) NOISADUMNOCIC

(d) NUMMOCINOITAC

fr=fafea emefa # fs f S @ sty

(a) 8

(b) 10

(c) 12

(d) 14

U H gHTE Heh A AL

(1237)'% x (841)™

(@ 1

(b 3

() 9

(d 7

5 gesl iR 5 dfeansti @ 5 AT H TH
gfufq s S 21 Sa sAferehan 2 dfeene
ot wfaet fan e at 9% fohas el @ foan
ST Hehal B

(a) 1024

(b) 1000

(c) 1224

(d) =i &

fea gfeswion ¥ fodt wmen &1 SE-3E
SU-guenen H fauifea & g w Inhd
2, = @y w9 9 v fan s 22

(a) fawfea =Y e <id

(b) e R Ffe

(c) YheqarHs faweoor

(d) foem-vem
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97. What is the primary effect of using the 97,

"anchoring bias" in decision-making?

(a) Overvaluing information that is initially
presented.

(b) Judging new information based on
personal experiences.

(c) Overestimating the importance of the
most recent information.

(d) Ignoring initial information when making

decisions.

98.  Which of the following best describes the role 98.
of heuristics in decision-making?

(a) Heuristics are used to analyze every
possible outcome to ensure the best
decision.

(b) Heuristics simplify decision-making
by offering rules of thumb that guide
choices.

(c) Heuristics rely on large-scale data
collection to guarantee optimal decisions.

(d) Heuristics require detailed problem-
solving steps to arrive at a solution.

99. What term is used to describe a project 99.
management approach that follows a linear,
step-by-step process where each phase is
completed before moving on to the next?

(a) Agile Development
(b) Waterfall Method
(c) Lean Methodology
(d) Scrum

100. Which technique is used in Agile development

100.

to prioritize and organize tasks into a backlog
for iterative work completion?

(a) Gantt Chart

(b) Kanban

(c) Product Backlog
(d) Lean Six Sigma

[A-11I-24] 030812 (17 -A)

fofg o # “usRT gEfe” @1 3T &

1 WAfHE g R 82

(@) Y& H TG F W AL F Ao
e 3

(b) SR H9Al & SMER W E BRI
HT Godih FHE

(c) a9 T & IHHR & HEd hl Al
Sl

(d) Tl T I9a YRfTE ISR H ST
Ezel

frefefaa & @ == @ fofa o1 o 2gffesm

1 ek 1 Fad 3T=S1 GU HIdl 82

(a) waH faofa gHea &0 & fag =
Hrfaa aftomm &1 fagewor 3 & fau
YRR &1 S fohen S 2

(b) TR o2 & framl &1 Ty w3
fofa oF &l W T © S faeheni W
HRige #

(c) TIRFag seau fofl =t M A =
fou o2 TR W 2o W W R W 2

(d) TIRF=aT = 9HEH R wga & fau
foreqa IHE-FHEE SO0 i SAevdehdl
Bt 2

T URESHET JaEd gfteshion &1 9ui &wE &
fau f&e s &1 STEm fF S € W
Eeh, =RO1-S-=01 WiHa 1 STET0T Hidl B
el I W01 ST W0 W WM 9§ 9ee g0
RS

(a) TSTES SIAIHE

(b) aTeXErA fafy

(c) oA HefrEtersit

d) =m

TR & qUidl & fau & s wefHesar
3 SR ol § oFaftyd w & forg T
SaTHe H Thd Tl o1 IUANT fohan a1 22
(a) Tz =

(b) FEA

(c) SR SHAM

(d) < faea o
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